06 01 25

G )

38,352 |

38,168 | o | 184 |

0.47

R2

R4

R6

R2

2,600

R6

1000

2600

0000606435




R02 |R03 [R04 [ROS5 [RO6

A03-001 L=3.6k "= (m|mm 4,500
m)

A03-002 L=5.8k "= m|m = 4,000
m)

A03-003 L=4_2k "= (m|mm 3,000
m)

A03-004 L=7.4k "= m|m = 4,500
m)

A03-005 L=4_6km) "= (m|mm 1,500

0000606435




R02 |R03 [R04 [ROS5 [RO6
A03-006 L=4.3k [ B BN B B 2,000
m)
A03-007 L=3. ] ] ] ] ] 1,200
2km)
A03-008 n n n n n 4,000
L=6.5km)
A03-009 L=4.1k | | | | | 2,000 (1.13
m)
NN 26,700 |
A08-010 L=1.9km) | | ] | | 1,000

0000606435




R02 |R03 [R04 [ROS5 [RO6

A08-011 L=5.3k [ I B A B | 2,000

m)

NN 0] |

A03-012 L=3.2km) [ BN BN B B 250
A03-013 L=3.2 [ I B A B | 3,000
A03-014 L=1.6k ] 18

m)
A03-015 L 2.6 " == 450

km)

0000606435




R02 |R03 [R04 [ROS5 [RO6

A03-016 [ [ [ [ [ 200
A03-017 [ [ [ [ [ 200
A03-018 [ [ [ [ [ 200
A03-019 [ [ [ [ [ 200
A03-020 | | u | | 200
A03-021 [ [ [ [ [ 200

0000606435




R02 |R03 [R04 [ROS5 [RO6

A03-022 [ N B R 400
A03-023 [ I B A B | 100
A03-024 [ B BN AN B ] 250
A03-025 [ I B A B | 500
A03-026 [ B BN AN B ] 600

0000606435




R02 |R03 [R04 [ROS5 [RO6
A03-027 [ B BN B B 600
A03-028 ] | u u ] 500
A03-029 [ B BN B B 600
N B.ac8| |
N s |

0000606435




R02 |R03 [R04 [ROS5 [RO6

C03-001 u 10
C03-002 [ I B A B | 105
C03-003 [ I B A B | 15
C03-004 u 9
€03-005 u 15
C03-006 u 30
NN ] |

0000606435




R02 |R03 [R04 [ROS5 [RO6

0000606435




RO2 RO3 RO4 RO5
©) 2,971 2,521 2,083 1,331
(b) 0 0 0 0
(c=atb) 2,971 2,521 2,083 1,331
[C)) 1,604 1,862 1,927 1,547
e) 2,713 2,456 2,463 1,896
) 1,862 1,927 1,547 982
') 1,350 1,340 1,005 629
(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 29.5 30.57 25.06 21.85
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